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1 = goo E 500,000
2 = goo E 225,000
T3 = goo E 172,500
T3 = goo E 172,500
T5 = goo E 111,000
T5 = goo E 111,000
T7 = goo E 79,500
T7 = goo E 79,500
T7 = 00oos2 E 79,500
T7 = goo E 79,500
T7 = goo E 79,500
T7 = goo E 79,500
T13 = goo E 59,100
T13 = goo E 59,100
T13 = goo E 59,100
T13 = goo E 59,100
T13 = goo E 59,100
T18 = goo E 53,250
T18 = goo E 53,250
T20 = goo E 49,100
T20 = goo E 49,100
T20 = goo E 49,100
T23 = goo E 45,333
T23 = goo E 45,333
T23 = goo E 45,333
26 = goo E 43,000
T27 = goo E 40,375
T27 = goo E 40,375
T27 = goo E 40,375

1/2



ggd

T30

T30

T32

T32

T32

T32

T36

T36

T36

T39

T39

T39

T39

T39

T44

T44

T44

T47

T47

49

T50

T50

T50

T50

T50

T50

T50

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

38,000
38,000
34,800
34,800
34,800
34,800
32,167
32,167
32,167
28,600
28,600
28,600
28,600
28,600
26,000
26,000
26,000
24,500
24,500
23,250
17,500
17,500
17,500
17,500
17,500
17,500

17,500
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